
PREMIER FOGGER BLOCK ASSEMBLY

15

11

10

7

17

16

58

4

11

11

13
12

11

1

2

6

3

14

RAPID CHANGE KIT

18



PARTS LIST
DESCRIPTIONSALES NUMBERSPART NUMBERQTYITEM
RAPID BLOCK  BASE PLATE CXP 1255RM-HAR-0004711
STAGE/PFI/9D 1" ALUMINUM CARTRIDGE PLATECXP 4067RM-PTS-0035012
PREMIER FOGGER RAPID CHANGE REPLACEMENT KITCLF 4405RM-HAR-0005013
PREMIER FOGGER RAPID CHANGE REPLACEMENT KITCLF 4405RM-HAR-TUBE214
QUICK CHANGE ALUMINIUM TOP PLATE 1/4"CXP 4231RM-HAR-0005315
STAGE/PFI/9D 110V 1400W HEATER CARTRIDGE
STAGE/PFI/9D 240V 2000W HEATER CARTRIDGE
CXP 4066
CXP 4068
RM-ELE-10010
RM-ELE-10020
16

ANTI WARP PLATE FOR BLOCKCXP 4239RM-HAR-0006117
PREMIER FOGGER RAPID CHANGE REPLACEMENT KITCLF 4405RM-HAR-0004918
PREMIER FOGGER RAPID CHANGE REPLACEMENT KITCLF 4405RM-HAR-0012859
PREMIER FOGGER RAPID CHANGE REPLACEMENT KITCLF 4405RM-HAR-00057510
STAGE/SHOW/PFI/9D INSULATION KITCXP 2483RM-SUB-20190111
#12 X 2" PAN PHILLIP SCREWCXP 1257RM-HAR-00065412
RAPID BLOCK HOLDER BASECXP 1256RM-HAR-00046113
#6-32 X 1/4" PHILLIPS SCREW S.S RM-HAR-21040114

RAPID BLOCK HOLDER LIDCXP 1258RM-HAR-00045115
NEW THERMOCOUPLE ASSEMBLYCXP 4005RM-ELT-20060116
CAPILLARY THERMOSTAT ASSEMBLYCXP 7500BLUB& CAPILLARY ASSM WITH COIL117
8-32 X 1/2 IND HEX WASHER HEAD TYPECXP 4237RM-HAR-00265218

PREMIER FOGGER BLOCK 
 110V

REVISION HISTORY

REV-# DATE

A 13/09/2016

PARTS LIST

ITEM QTY SALES NUMBER DESCRIPTION

1 1 CXP 1255 RAPID BLOCK  BASE PLATE 

2 1 CXP 4067 STAGE/PFI/9D 1" ALUMINUM CARTRIDGE PLATE

3 1 CLF 4405 PREMIER FOGGER RAPID CHANGE REPLACEMENT KIT

4 1 CLF 4405 PREMIER FOGGER RAPID CHANGE REPLACEMENT KIT

5 1 CXP 4231 QUICK CHANGE ALUMINIUM TOP PLATE 1/4"

6 1
CXP 4066
 

CXP 4068

STAGE/PFI/9D 110V 1400W HEATER CARTRIDGE
 
STAGE/PFI/9D 240V 2000W HEATER CARTRIDGE

7 1 CXP 4239 ANTI WARP PLATE FOR BLOCK

8 1 CLF 4405 PREMIER FOGGER RAPID CHANGE REPLACEMENT KIT

9 5 CLF 4405 PREMIER FOGGER RAPID CHANGE REPLACEMENT KIT

10 5 CLF 4405 PREMIER FOGGER RAPID CHANGE REPLACEMENT KIT

11 1 CXP 2483 STAGE/SHOW/PFI/9D INSULATION KIT

12 4 CXP 1257 #12 X 2" PAN PHILLIP SCREW

13 1 CXP 1256 RAPID BLOCK HOLDER BASE

14 1  #6-32 X 1/4" PHILLIPS SCREW S.S

15 1 CXP 1258 RAPID BLOCK HOLDER LID

16 1 CXP 4005 NEW THERMOCOUPLE ASSEMBLY

17 1 CXP 7500 CAPILLARY THERMOSTAT ASSEMBLY

18 2 CXP 4237 8-32 X 1/2 IND FASTNER


	Premier Fogger Block - Exploded-R-A-1
	Premier Fogger Block - Exploded-R-A-2

